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1. Tick  on the correct option; 

(i) Mahatma Gandhi strongly felt that; 

a) Indian languages should be the medium of teaching. 

b) Western education focused on reading and writing 

c) Students should learn a craft. 

2. Match the following  

  A    B  

Spinning Jenny  1720 

Steam Engine   1764 

Calico Act   1786 

Death of Tipu   1799 

3. State whether following statement        4X1 

a) Private sector industries are not owned and operated by individuals or a group of 

individuals. 

b) Agro based industries use plant and animal based products as their raw materials. 

c) The land on which the crops are grown is known as arable land 

(ii) When someone violate the law, we immediately inform; 

a) Neighbors 

b) Police 

c) Judge  

(iii) How many percent of India’s population is  Adivasi? 

a) Around 8% 

b) About 10% 

c) About 4% 

(iv) The processing of natural resources is referred as 

; a) Primary activities 

b) Secondary activities 

c) Tertiary activities 

(v) The industries owned by government agencies are refered as; 

a. Public sector 

b. Private sector 

c. Corporate sector 
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d) In the world, 50 per cent of persons are not engaged in agricultural activity. 

4. Fill in the blanks; 

a) The word chintz comes from the word ________________________. 

b) Tipu’s sword was made of __________________ steel. 

c) India’s textile exports decline in the _________________ century. 

d) Charles Weld was an American_____________. 

5. Explain any 2 among following;        4*1 

a) Open trial 

b) Public prosecutor 

c) Marginalization 

d) Dalits 

6. Give reasons           2*2 

a) In India agriculture is a primary activity. 

b) Different crops are grown in different regions. 

7. Answer the following questions         2*2 

a) What is the work of defence lawyer? 

b) In which basis people are marginalized 

c) What were the main reasons for the decline of textile industry in India? 

d) What is organic farming? 

8. Show the following on the map of India 

a) Ahmadabad 

b) Culicut 

c) Bombay 

d) Dacca 
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